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8. What are the function of four main ingredients
of cement? 5

R & IR 9= Jagdl & did T 8°
OR(3721dT)

Compare fat lime and hydraulic lime.
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PART - 11
GROUP -C

Answer all Two Questions.

aHt g gl & SR < | 10x2=20

9. Distinguish between ordinary bricks and fine bricks.
Explain the three main tests conducted on bricks.
10
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Time : 3Hrs. Sem - 1/11

EME & EM
Full Marks : 80

Pass Marks : 26

There are two parts in the question
PART-I(EME) & PART-1I(EM)
g ¥ §1 @vs—] (EME) vd @vs—II (EM)

Answer 10 Question from Part-I and 10 Question from
Part-1I of Group-A, each question carries 1 mark

Yu-A & Gvs—1 9 10 qenn wus—11 4 10 9=l
® SR «, UAD U BT A1 1 3% 2|

Answer 2 Question from Part-I and 2 Question from
Part-1I of Group-B, each question carries 5 mark

qu-B & @vs—[ 4 2 qo1 @vs—I1 9 2 yeAm
P IR T, IAS U & 41 530F 2 |

Answer 2 Question from Part-I and 2 Question from
Part-1I of Group-C each question carries 10 mark

39-C & @vs—1 4 2 dom wvs—I1 9 2 gl
® 9IRS, UAD U &1 949 10 3d 2|

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Th 93 & GHI AT BT SR TP & o8 (AR HH H)
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The figure in right hand margin indicate marks.
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(vii) ATGAR ST BT AMHR BIdl 8

(ix)

(ix)

x)

(3) 18cm X 10 cm X 8 cm

(@) 19cmX9cm X 9cm
(|@)225ecm X 11 cm X 8 cm
() 399 & dIs T8

The final setting time of ordinary portland
cement shall not be more than

(a) 10 hours

(b) 20 hours

(c) 24 hours

(d) 30 hours

ATERYT gidas e @) rfeaw swe
BT 3-8 9 fead sarer A 8-
a1fay

(31) 10 =T

@) 20 =

(|) 24 =

(?) 30 @<

The maximum percentage of water
absorption by weight of I Sc class bricks
in 24 hours should be

(a)5%

(b) 10 %

(c) 20 %

(d) None of these
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(i)

(iii)

(iif)

(iv)

3 02204/01104/P01104

9el gIgdex &I SYINT——HT & foIv
BT 2 |

(31) s

(@) wivfig

(¥) 1e4311€2 QAT 1€491€2 ST

(]) SWRIad HIg LN

Unit of force in S.I. system is-------
(a) Newton

(b) Joule

(c) Watt

(d) Degree

SI ugfa ¥ 9a & gHIZ——= I 2 |
(&) =g

(@) S

(|) are

(<) f&h

Diesel engine works on------ cycle
(a) Otto

(b) Diesel

(c) Carnot

(d) None of these
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(iv)

V)

V)

(vi)

BIgScs 9T 2
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(@) dfeaaq wEfqde

(]) 379 4 HIg T8

Which of the following ingredients, impart
strength to the cement?

(a) Silica

(b) Alumina

(c) Iron oxide

(d) None of these

fr=fafaa # 9 @19 rqaa AFc &1
arHed gerar 27

(a1) fferanr

(@) srqgfa

(W) <iltg TS

(?) 3719 A PIs T8

In natural seasoning, if done in air how many
days are required?

(a) 1 Year

(b) 2 to 4 Months

(c) 2 to 4 Years

(d) None of these
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(vi)

(vii)

(vii)

(viii)

5 02204/01104/P01104

Igeid 3o H H-HIUC D.......... gouiq
H ah YT BIaT B |

(37) T

(@ <t

() =

(/) =R

When distance between two shafts is less, for
power transmission ....... drive is preferred
(a) Belt

(b) Rope

(c) Gear

(d) None of these

o9 <1 e & 4 & &9 |, wfaw
GaRYT Bd....... $5d Bl Yrafiedr ad 2

(A) frR
() SWidd ®Ig 81

Air preheater in boiler is ......
(a) Mounting

(b) Accessory

(c) Both (a) and (b)

(d) None of these
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PART - 11 x)  SIold 791 dl———3+oF Hl $ed 2
GROUP - A (31) .1
. . (@ cL
6. Choose the most suitable answer from the following
, B (®|) G.I
options : 1x10=10 () El
gaifere Suyad fabey & gaax ford B
() Stone generally used for railway ballast is
(a) Sand stone
(b) Dolomite
(c) Marble
(d) Basalt or trap PART -1
GROUP-B
() Vd RS H BII— TR BT A 0T .
t .
ATROTTAT SYAIT dr 287 newerd V_VO Ques lons_ 2x5=10
(31) IS TR afl g Tl @& SN Q|
() Steftrge 2.  Write merits of two stroke engine.
(|) 9TRWR S

(@) weree a1 29 fgeara g @ [N &1 quia & |
OR (31214T)
(i)  Vicat’s apparatus is used to determine the

(a) Initial setting time of cement What are the requirements of a good boiler.

(b) Finat setting time of cement F I ¥ T g e
(c) Normal consistency of cement arfay |

(d) All of above
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10.

OR (3721dT)
Enumerate the various defects in timber.

Differentiate between natural seasoning and
artificial seasoning.

dael @ faftr= il &l fod | yrefas vd
S SuARYT & 9 sax qag |

Write difference between thermoplastic and
themosetting plastic. Write in brief the casting of
different methods of plastic materials.

offweRed 3R oalAfeT wiResd ¥ Iax
foRed | wifRe® uerel @ @ faftr=1 faferat
ey ¥ fafad |

OR (31214r)

Give the geological classification of the following
stone in tabular form.

(I) Marble

(i1) Sand stone

(ii1) Granite

(iv) Slate

(v) Lime stone

P.T.O
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OR(3721dT)
Enumerate the various defects in timber.

Differentiate between natural seasoning and
artificial seasoning.
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Write difference between thermoplastic and
themosetting plastic. Write in brief the casting of
different methods of plastic materials.
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OR (3121an)

Give the geological classification of the following
stone in tabular form.

(I) Marble

(i1) Sand stone

(ii1) Granite

(iv) Slate

(v) Lime stone
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